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[プログラム]

mus_c_gnm=function( part=c( 1,2) ,tempo=120,ts="4,4",scle="c d e f g a b",octv=5,lgth="2
4",q=100,qf=0,fluc=0, inst=1,script="R Music Generator",pan=0,vrnd=20,msr=NA,sp="
",sdef="0,0,0,0,0,0,0",rev=0,cho=0){

script=iconv(gsub("¥n", "",script),"UTF-8","SHIFT_JIS")
data=as.numeric(charToRaw(script))
datw=c()
for(j in seq(1,length(data),by=3)){

datw=c(datw,data[j]+data[j+1]+data[j+2])
}

data=datw
for(i in 1:length(part)){

if(is.na(pan[i])==T)pan[i]=pan[1]
if(is.na(inst[i])==T)inst[i]=inst[1]
if(is.na(octv[i])==T)octv[i]=octv[1]
if(is.na(scle[i])==T)scle[i]=scle[1]
if(is.na(lgth[i])==T)lgth[i]=lgth[1]
if(is.na(q[i])==T)q[i]=q[1]
if(is.na(qf[i])==T)qf[i]=qf[1]
if(is.na(sp[i])==T)sp[i]=sp[1]
if(is.na(fluc[i])==T)fluc[i]=fluc[1]
if(is.na(vrnd[i])==T)vrnd[i]=vrnd[1]
if(is.na(rev[i])==T)rev[i]=rev[1]
if(is.na(cho[i])==T)cho[i]=cho[1]

}

nnum=length(data)
tone=matrix(nrow=length(part),ncol=512)
leng=matrix(nrow=length(part),ncol=512)
for(i in 1:length(part)){

set.seed(sum(data))
for(j in 1:512){

tone[i,j]=sample(strsplit(scle[i]," ")[[1]],1)
leng[i,j]=sample(strsplit(lgth[i]," ")[[1]],1)

}

}

not=matrix(nrow=length(part),ncol=nnum)
len=matrix(nrow=length(part),ncol=nnum)
mml=c()
for(i in 1:length(part)){

not[i,]=tone[i,data]
len[i,]=leng[i,data]
mml[i]=paste("o",octv[i],"¥n",sep="")
for(j in 1:nnum){

if (data[j]==32 & sp[i]!="" ){note=sp[i]} else{note=not[i,j]}
mml[i]=paste(mml[i],"l",len[i,j],"q",q[i]+qf[i]*RandomSelect(c(-1,1)),note," ",sep="")

}

}

seed=paste("System.RandomSeed=",sum(data),sep="")
kflg=paste("KeyFlag=(",sdef,")",sep="")
titl=paste("TrackName={",'"',script, '"',"}",sep="")
tmpo=paste("TimeSignature=",ts," Tempo=",tempo,sep="")

trk=c()
for(i in 1:length(part)){

trk[ i] =paste( "TR=",part[ i] ," P=",64+pan[ i] ," @",inst[ i] ," v.Random=",vrnd[ i] ,"
t.Random=",fluc[i]," REV=",rev[i]," CHO=",cho[i]," ",mml[i],sep="")

}

if ( is.na( msr) ==T) { ptime=""} else{ ptime=paste( "PlayFrom( -1:3:0) PlayTo( ",msr+1,":1:0)
",sep="")}

md=data.frame(code=data)
for(i in 1:length(part)){

md[paste("note_",i,sep="")]=not[i,]; md[paste("lgth_",i,sep="")]=len[i,];
}

return(list(seed,kflg,titl,tmpo,paste(trk,collapse="¥n"),ptime,md))
}

play=function(score){
write( paste( score[ 1:ifelse( is.data.frame( score[ [ length( score) ] ] ) ==T,length( score) -1,length

(score))],sep="¥n"),file="tmp.mml")
shell("csakura -p tmp.mml> nul")

}



# D20111
score=mus_c_gnm(

part=c(1,2,3),
tempo=60,
ts="4,4",
scle=c("d e f g a b c","d e f g a b c","d e f g a b c"),
octv=c(6,5,4),
lgth=c("1 2 4","1 4 2","2 1 1"),
q=c(98,98,98),
qf=c(0,0,0),
fluc=c(20,20,20),
inst=c(1,1,1),
pan=c(-32,+32,0),
vrnd=c(60,60,60),
rev=c(80,80,80),
cho=c(2,2,2),
sp=c("","","" ),
sdef="",
script="

gatcaagccaccacgtgccctacgatggcctaacaggagtgcccattggcagattacacatgtaaatatgacctcagacaaaaaggaaccagaggcccaa
gggcaataataaggtggaatttncaggtcagcccaggaattggcagaggaagtaggtgtctgataaccctttgtggagaatgagattccccccacctgtgtg
agaaaaataaacagctctggagtcttgtncctgactccagaggaacgagagcattccaggaaagagagattccctggaaaattgaaaatgtgaatcctagg
gggaaattggggattgtntctttccctgttgaaaatgtttngntgggaataaatatcttcaggaaccataaa
"
)

play(score)

# D20121
score=mus_c_gnm(

part=c(1,2,3),
tempo=30,
ts="4,4",
scle=c("c d e g 'ga'","d e f g 'ea'","d e f g a b c"),
octv=c(6,5,4),
lgth=c("1 2 4","1 4 2","2 4 1"),
q=c(98,98,98),
qf=c(0,0,0),
fluc=c(0,0,0),
inst=c(1,1,1),
pan=c(-32,+32,0),
vrnd=c(60,60,60),
rev=c(80,80,80),
cho=c(2,2,2),
sp=c("","","" ),
sdef="",
script="

gatccaggccaaggcactggctgtnagtggcagagtttggctgtaacctttgcccctaacacgaggaactcgtttnaagggggcagcgtagattgtntnattt
gccacctggatgaaggcagacatcaacatgggtcagcacgttnagttacgggagtgggaaattacatgaggcctggncctctnctttcccaagctgtgcgtt
ctggaccagctactganttattaatctcacttagcgaaagtnacggatgagcagtaagtaagtaagtntggggntttaaacttgaggggttccctcctgactag
cctntnttacagganttgtggnaatattaantgcaaatttacaactgcaaa
"
)

play(score)



# D20131
score=mus_c_gnm(

part=c(1,2,3),
tempo=48,
ts="4,4",
scle=c("d e f g a","a g f e d","c e g b"),
octv=c(6,5,4),
lgth=c("1 2 4","1 4 2","2 4 1"),
q=c(98,98,98),
qf=c(0,0,0),
fluc=c(20,20,20),
inst=c(1,1,1),
pan=c(-32,+32,0),
vrnd=c(60,60,60),
rev=c(80,80,80),
cho=c(2,2,2),
sp=c("","","" ),
sdef="",
script="

cggaaattcatggttggctacgaaatgcttgctcaggctcagagggacctcacccctgagcaggctgcagagagactaagggcacttcctgaggtncntta
ccacctggggcagnaggacagggagacagcaaccatcgnctgaccacgccgaccacagggccttgaatccttttttgttttcaacagtcttgctgaattaag
cagaaagggccttgaatcctggcctggaatttgggcagatatagcattaataaaactgtgcatctcaaa
"
)

play(score)

# D20141
score=mus_c_gnm(

part=c(1,2,3),
tempo=30,
ts="4,4",
scle=c("'def' 'ace' 'ega' r 'dfg'","'c+d+' 'df+g' 'fgf' r 'gab'","'<a>ceg' '<a>dea' 'efab' 'egbc' 'cegb'"),
octv=c(5,6,5),
lgth=c("1 2 4","1 4 2","4 2 1 1"),
q=c(98,98,98),
qf=c(0,0,0),
fluc=c(20,20,20),
inst=c(1,1,1),
pan=c(-32,+32,0),
vrnd=c(60,60,60),
rev=c(80,80,80),
cho=c(2,2,2),
sp=c("","","" ),
sdef="-1,-1,0,0,0,-1,-1",
script="

gatccaccctcctccacctccgaaagtgctgggattataggcatgagccaccgtgctcggccagaggcttcttttaagtgtgacttccaagataaacactttttc
atatattgtntaccttggtgattatgacagaaatcttgccatcctgttaataggaatgatattcctttgtaatgctgtgtcagctttctgaagtgttcacatgtgatactc
ctaagccacacttnctatattcggaagttaatacaaatggtttttaatccttaatatgggccttttttgttctaaggaaaattncatttcaatatagggaaaggnccta
actatttcttttggaaa
"
)

play(score)
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